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a = torch.randn(2,3,5,7,9)
#i=7,j=9

b = torch.einsum('...ij->...ji", [a])

[TTTT] bilinear transformation[]

np_a = a.numpyl)

np_b = b.numpy()



np_c = c.numpy()

np_out = np.empty((2, 5), dtype=np.float32)

np_out = torch.einsum('ik,jkl,il->ij', [a, b, c]).numpy()
# ik broadcast[] ikl

# il broadcast] ikl

# 'ik,jkLil->ij'IT10 ikl jkl, ikl->ij"

foriin range(0, 2):
for j in range(0, 5):
# [TI111T] oo kO |
sum_result =0
for k in range(0, 3):
for | in range(0, 7):
sum_result += np_al[i, k] * np_bl[j, k, 11 * np_c[i, 1]

np_outli, jl = sum_result

(1]

a = torch.rand(2,3)
b = torch.rand(3,4)
c = torch.einsum("ik,kj->ij", [a, b])

# (110 torch.mm(a, b)
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